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Name: Datum: Ergebnis:
1 3
3311 — == 15+3+=-=
2 2
2+1><1— 55;54_1_
3 5 4 T2
1 2 3 1
2755 ;73
1 3 3 3 3 1
_ X _-— - = —_F — X — =
2 5 2 2 4 5
1 1 1 1
——15+3= —F+ =X —=
; 73 6 3 6
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drei Briiche, Reihenfolge der Operationen

Name
1 |
Bell-2=2-ol
2 2 2
2 1 1 43
—_F = X - = —
3 5 4 60
1 2 3 4
— X =4 - = —
2 5 5 5
1 3 3 6 1
—X———:—_:—l_
2 5 2 (5) ( 5)

1 ' __9:_1
S 15+3=(5)=(43)

Datum: Ergebnis:
3 13 1
1I5+3+=-=— =6=
2 2 2
I 23 1
N+5+=-=—=11=
2 2 2

3 3 1 33 13
_—|—_X_:__:1__
2 4 5 20 20
I 1 1 2
—_F — X — = =
6 3 6 09

www.snowmath.com



https://www.snowmath.com

